Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300014 Date:25/05/2016
Subject Name: Basic of Electrical and Electronics Engineering
Time: 02.30 PM TO 04:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. U8l Aa ([AscUl.
Unit of power is

1. | A Watt B. Volt
C. Ampere D. Ohm
R oll Ylle 9 .

oA | de B. | de
C |l D. | 20en
Hysteresis is graph between

5 A. Flux and current B. Voltage and current

" | C. Magnetic field strength and D. Current and resistance
flux density
RRRYU 58 A scldldlAl AW B?
A | seal el yals B. | Ay ua yaus

2. .

C. [ RaRs Bes Bau v seat | D | ydis el wadu
SRR
What is the function of a Resistor?

3. A To increase the current B. To generate the current
C. To oppose the current D. None of above
UcRAY of s g B?

3. |A | s qurdl B. | 522 slettadl
C. |siz Asa D. | As ual o3
Specific resistance is measured in

4. | A Mho B. ohm/cm
C. Ohm D. ohm -cm
UssA AR AHL HUCUH! A & ?

. |A B | 2llem 7 AW
C. |qen D. |aen . AR
Flux is the equivalent of which electrical term?

5 | A Current B. Resistance
C. Conductance D. Voltage
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geal A (Ayd uRuaHl Sloll Bg B?

wo | A | sRe A
C. | ssseu D. | Ak
Factors affecting resistance is/are

6. | A Length of conductor B. Type of material
C. Area of conductor D. All of the above
UARUA UAUR $cll URAUA /uRoto

5. | A | aues oll dous B | cles ol ysiz
Co | clesell 2us@ AxAsn D | aden st
The unit of current is

7. | A Ohm B. Ampere
C. Volt D. Mho
$22 ofl AsH 8.

9. |A | AR
C A D 1ha
Resistance of 200 W, 250 V lamp will be

8. | A 625 Q B. 312.5Q
C. 1250Q D. 31.25Q
200 W, 250 V oll QU oll AR 9 UlA?

¢. |A |srua B- |31u0
C. lauwoQ D. 13q2uq
Unit of flux density is

9. | A Ampere/mm? B. N/m?

C. Weber/m? D. AT/m
setet SR ol vsu 9 B2

c. |[A AR /7 B B e3eat / {2
Claue / o ARUR. 2ol / A
What is the function of capacitor?

10. | A Charging & discharging B. Generating & increasing
C. Generating & decreasing D. None of above
SRR sl2l 9 B?

0. | A | aeflor ual Braueslol Glollalg A Y2Lsq
C Jaollag AR durRg D | As ug o
Unit of electric charge (Q) is

11. | A Ohm B. Coulomb
C. Tesla D. Ampere
BAles UL AsH 9 B?

. | A | eu B. | gela
C | 2ua D. | AR
If two resistors of same value are connected in series then equivalent resistor is

12. | A Double B. Half
C. Triple D. Not Possible
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gl A UL Aol 0522 AR3UL ABA Al calcll AR slad

. |A ol B. | asal
C. | o o D. | asel ool
The unit of an Inductor is
13. | A Ohm B. Mho
C. Ampere D. Henry
8552 ofl AsH 8?
3. | A | Alen B &l
C. | AR D &l
Property of material which opposes the production of magnetic flux in it is known as
14. | A Permittivity B. Permeance
C. Reluctance D. Mmf
Ueldoll oJRIUM Botl AN A sl Gur Uclall lRU 5.
w. A [ uERE@A B. | willzin
C | dlaseu D. 3. A, As.
Relative permeability pr of diamagnetic material is
15. | A Less than 1 B. Equalto 1
C. Zero D. Greater than 1
slARRs ueldl ol AARa WRRAUARR pr 3ecl &2
. [A sl A0l B. ]q
C 1o D. 14 s2dl au
At constant temperature ratio of voltage to current is known as
16. | A Reluctance B. Conductance
C. Permeance D. Resistance
VAN dAlUHLal Al Aol $22 oll ARITR o 9 5& B?
5. | A | flaseu B. | ssseu
Co | ullein D. | yadu
The RMS value of sinusoidal voltage wave v = 200sinmt, is
17. | A 141V B. 200 V
C. 100 V D. 282V
AUSANSAB2AA AR dR9L v =200sinet ofl URWHAY YU 9| B2
. | A v B. 200V
C. Jaoov D. J2crv
What is the mmf in a 150-turn coil of wire with 2 A flowing through it?
18. | A 300 AT B. 75 AT
C. 150 AT D. 600 AT
U0 2ol ol Sl R A 522 URR AU & cl dxl AHALAS o Ay 9
&2l
. A
: 300 AT 9U AT
C. |auwo AT D | soo AT
19 What is the function of Transformer?
" |A  |[ACtoAC B |ACtoDC
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C |DCtoAC |D | All of above
2LRASRUR o slal 9 B?

e |[A |ACqAC AC o DC
C. |Ibce AC D | e ot
The transformer works on the principle of .

20. | A Self-induction B. Electric formation
C. Mutual induction D. Multiple induction
2lUSIRUR sl Rgld UR sl 52 B?

0. | A | Acs BossUt B. | sAles Sluuet
C. | iyuct 8ossuet D. | y@ud Bessiet
For an AC system an inductive reactance is given by :

21. | A Rc =2x=fC B. XL =2xnfL
C. Xc = 1/2xnfC D. None of above
AC RieH M2 8oss(da Rusdy 9 sl B2

2. | A Rc =2xnfC B. XL =2xnfL
The transformers are rated in :

22. | A. KVA B. Kl
C. KV D. Ampere
2IRASIRUR of 2oL UL A B,

- TA [KVA B. [KI
C. KV D. Ampere
For an AC system a capacitive reactance is given by .

23. | A XL =2znfL B. Xc = 1/2nfC
C. Rc =2xfC D. None of above
AC Rien 2 3U{Ra Ruse 9 8l &2

23. | A XL =2nfL B. Xc = 1/2xntC
C. Rc =2xnfC D. None of above
For an AC system in which frequency is 100Hz, periodic time is milliseconds.

24. | A. 20 B. 5
C. 10 D. 50
AL el 100Hz AUgA B Al Aoll Aletdatisian Acll Ases B.

¥ A [20 B. [5
C. 10 D. 50
Frequency ( f ) can also be measured in

25. ['A. Meter per second B. Ampere per meter
C. Cycle per meter D. Cycle per second
ulgla (f) HLURL HWA 8,

MU A | ReR 7 Asos B | A0 7 Me?
C. AAsA 7 @e? ARASA / AS05
T and f are related by

26. | A. T=f B. f=T/2
C. T=1/f D. None of above
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T AR f A AsnAdl D.

RS, | A T=f B. f=T/2
Which of the following quantities are same in all parts of series circuit?
27. | A Voltage B. Power
C. Current D. Resistance
o{lAotl HLell AR AlFeHL dAHIH GUONHL g AHlet Sl B?
0. |A | A B | wer
C. yals D. Mc{au
Magnetic field required to reduce residual magnetism to zero is called
28. | A Retentivity B. Saturation magnetism
C. Coercivity D. Hysteresis
RRSYUA AARHH A Yo scll WUl Uscl RoaARs (3esal 9 53 B.
0. |[A | REREAR B. | Qedaet Aodlosu
C. | sl él D @
Standard frequency for ac power in India is
29. | A 50 Hz B. 25 Hz
C. 60 Hz D. 40 Hz
AURcl HL AC UlaR HI2 (3sdl eis$ sy B2
R¢. [A. [50Hz B. [25Hz
C. 60 Hz D. 40 Hz
RMS value of AC current is given by
30. [A. ] 0.5 Imax B. Imax/ \3
C. Imax/ \/2 D. |max
w3l Yalgoll AR AM AU Ay 8.
30. [A. 10.5 Imax B. [lmad/ 3
C. Imax/ \/2 D. |max
Form factor for alternating quantity is
31. | A 1.2 B. 2
C. 1.11 D. 2.44
w3l salillR ol 51 ¥s22 8.
30 A J12 B. |2
C. 1.11 D. 2.44
Power factor in any ac circuit is given by
32. | A VI sin@ B. VI cos@
C. VI tan@ D. None of the above
AL Ausle ol War ¥s2eR 8.
3. | A VI sin@ B. VI cos@
C. VI tan@ D. As ULl A8l
For purely resistive circuit phase difference between voltage and current is
33. | A 90° B. 45°
C. 60° D. 00°
s YlARY UBe U2 ARy U Yl oll 52 dslcld
33. | A |00 22l B. |45 22
C. 160 2ial D. |02
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A current is said to be direct current when its

34 A Magnitude remains constant B. Magnitude and direction changes
' with time with time
C. Magnitude changes with time D. Direction changes with time
Ucllgal SlARSs2 Yale secllal AR .......
A gld uHa W@ e @ | B | gl el dlan uHa wd
3%.
olecid
C. Sl AHA A HEAA D. UHRL WA €lan olecuA
Unit of frequency is
35. | A Tesla B. Weber
C. Second D. Hertz
gl Al AU B,
3w, | A | 2ual B. | awz
C. Jass D eén
For purely inductive circuit the phase difference between voltage and current is
36. | A 0° B. 90° Lagging
C. 90° Leading D. None of the above
I 855l UlBe HIZ ARy Wal Yallg oll $8% dgcllcd
35. | A | ye B. | co 2iat dllEat
C. | co 2ia @dlat D. | As ugl «dl
Which electromagnetic device uses brushes and a commutator?
37. | A A speaker B. A solenoid
C. A relay D. A dc generator
58 8ASANIRs Slalsy HL ¢l wal 5l1f22R oll GUAdL U B.
30. | A | adls? B. | Q@-ys
C. Jda D. 4R wot222
The arrow in a transistor symbol indicates the direction of current in
38. | A Collector B. Emitter
C. Base D. None of these
2lodflReRUl IR of oflallet Yeue ofl (ol sl euotHl Yua 8.
3¢. |[A | s@seR B. | aMez
C. |lax D. | As ug o
Pentavalent impurities are
39. | A Donors B. Both
C. Acceptors D. None
Ueldde wy (sl g B2
A el B aa
3¢.
S EE EEXTE Do 88«1}
is a safety wire which protects us from electric shocks and electric
40 fire.
A Earth wire B. Neutral wire
C. Live wire D. Fire wire
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SAES WASL W BABRS WL ad AU el 52 B.

B.

¥o. | A el alr RS AR
C. |odd R Do | stk aerR
What is the full form of MCB?
41. | A. Miniature coil breaker B. Mounted circuit board
C. Minimum current board D. Miniature circuit breaker
MCB o] Y3 olli 9 87?
¥ | A | RRAUR SlBe Qs? B. | w@es ue l§
C. |RAuu s32 A8 D. | QRAu uBe Qs
If two capacitors C1 and C2 are connected in parallel, then total capacitor C=
42. | A. Cc=C1-C2 B. C=Cl1+C2
C. C=Cl1+C2 D. C=Cl1 XC2
Al A 322 C1wA C2 WRAAML W3l 8l A et 3Ufle: c=
¥R (A, C=Cl1-C2 B. C=Cl +C2
C. C=Cl1+C2 D. C=Cl1 XC2
The charged capacitor can acts as a
43. | A Voltage source B. Inverter
C. Rectifier D. None of above
Ao 3AAe: . AR st s(R ad ®.
¥3. [A | Ay A B. | goare?
C. |3sar D. | As ual o3
What type of impurity can be added to make P type semiconductor?
44. | A Acceptor and Donor B. Acceptor
C. Donor D. None of above
Yl atefu Axllsosse? ootlaal 58 SHRAZIR GRRAU B?
vy || rellsRelR uR el B. | allsralR
C el D | As ug el
What type of impurity can be added to make N type semiconductor?
45. | A. Acceptor and Donor B. Acceptor
C. Donor D. None of above
Aol 2lSU AHse5522 dlotladal 58 SHWRAIR GARA B?
g | | rellsRelR uR el B. | allsrelR
Co ] et D s ug el
Diode is working as
46. | A. Wire B. Switch
C. Voltage source D. None of above
st2ls 3% sl 52 .
¥s. | A aerR R
C. | Axw Al D. | g2z Al
How many diode in full wave rectifier?
47. | A. One B. Four
C. Two D. Three
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getdal AseslAR HL decll sllls cuRlL 87

¥o. | A | As B. | 2
is main part of AC motor.
48. | A. Stator and rotor B. Inductor and diode
C. Stator and transistor D. Stator and tube
ARl Werell Yuat elldl 8.
¥ | A [ReR AR Ae B | €o5522 A slals
C | Re2 ual 2w D. e wa eyul
In which region transistor is working as amplifier.
49. | A. Active B. Saturation
C. Cut-off D. All of the above
eleBeR saul Roflatet HL Aauclglar A3y st 52 B.
¥e. |A AR B | Q2330
C. |sz s D | el s o
The direction of rotation of a DC motor can be reversed by
50. | A Changing the supply polarity B. Reversing the armature connection
C. Reversing the field connection | D. None of above
N RNEES edalldl Qg elaum 3l asia 8.
wo. [A | QadlR B | et st
C. | flesou st D. | As ug 3
In which region transistor is working as ON switch.
51. | A Active B. Saturation
C. Cut-off D. All of the above
2leBeR saul Roflatet HL 3ot [ d3l% s 52 B.
ug, [A [ AlkRa B. | Q2320
C. | se s D et v o
The direction of rotation of an AC motor can be reversed by
52. | A Changing the supply polarity B. Reversing the armature connection
C. Reversing the field connection | D. None of above
AWl e wedalldl @3¢ €launt ¥l asia B.
uR. (A e ekl AU ASIQL
C. | flesot lsta D. | As ual o
Resistance of forward bias diode is greater than the reverse bias diode.
53. | A Right B. Not always
C. Wrong D. Don’t say anything
SlRallS ol SRS ol AU A cllA™R SLAS $cll AUR 8l B,
us. [A jay B | éReu o3
C. e D 88l ot astat
In which type of capacitor negative and positive polarity is there.
54. | A Ceramic B. Electrolytic
C. Carbon film D. Metal film
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sl 2lefuoll 3Ule_Hl AR Wl WA Ra Wil s 82

wy. |A | Rreds B. | sAsdlcuadls
C. | stolot §lent D. | Rect flent
Which signal are not pass from capacitor?

55. | A. Sine wave B. Square wave
C. DC D. All of above
$U{leR sl AR UAR Ucll Ecll aell?

ud, [ A | weeda B, |draa
C R D. 1 GuR oll cttuss
What does LED stand for?

56. | A. Light Emitting Display B. Low Energy Display
C. Light Emitting Diode D. Light Emitting Detector
A8 AeA g2

us. |A | cwse AR Rwud B. | A Aelr Raud
C. alge AMILaL stalls D. | cuse AL Slesez
If L1=4 H, L2=5 H are join in parallel and mutual inductance between them is 2 H

57 than total inductance is

A 3.2H B. 20 H
C. 5H D. 100 H
%l L1=4 H, L2=5 H URAAML S1ScAHl Aol d 6ol dA 1A galgsed 2 H 8l
dl 2led Soss2cd 2l .
9. A B
|3 H | 20H
C JuH D |00 H
If R1=5Q, R2=2Q are join in series than total resistance is

58. | A. 50 B. 20
C. 10Q D. 7Q
ol R1=50, R2=20 {RHL AscllHl AAA A2d A R .

ue. [A |uao B- |z
C |wa Do oo
What is the full name of LDR?

59. | A Light dividing resistor B. Light dependent resistor
C. Line deriving resistor D. Least durable resistor
LDR of Yy olld 9 ©°?

ye. | A | ause BasBal 23R alge (Buse Adder
C | adet SlReclol e D | [@re syRuct 23we?
Which is the given symbol? ]

60 //’_

A Varector diode B. Photo diode
C. LED D. Tunnel diode
Ut ofleell 58 Sl ol B — o —

S0. Y

A QseR slAlS

glel stalls
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C. | Aasdl D. | 2ot stals
Which is the highly conductive metal?

61. | A. Aluminium B. Copper
C. Zinc D. Tin
WAL ueleHiell el aurR AR ales uetd sl B?

st. |[A | AeyHlellan B. | duy
Co | Afls D ] &t
Luxmeter used to measure which quantity?

62. | A Intensity of light B. Flux
C. Mmf D. Speed of machine
daHlzRell GuoL 58 scAllcdl Hiual HI2 wa §?

s2. | A [ustat ol dladt B. | scsat
C | anauds D. | nallotefl atcll
For forbidden energy gap 1 electron volt is equal to......

o A1 2.7%10% Y B. | 1.6x10" 4

G | 1ex10™ 4 D 11y
$1R0{lsel Wt AUHZ 1 BASSet A2 HRAGR Sl Al B?

o3 A1 2.7%10% Y B. | 1.6x10" 4
C | 1.6x10™ D 11 et
How many terminals in SCR

64. | A 2 B. 1
C. 3 D. 5
SCR o 52cl 85l &l B?

s¥. A |2 1
C. 3 D. 5
What is the use of SCR?

65. | A Variable speed drive B. Switch
C. Protective circuit D. All of above
o{lAetl Hil SCR oll GUADL AML A &?

su. | A | AdRAaa wdls gloa B | aclla dR¥
C. | Rsdla uBent GURell oLt
What is the full form of ELCB?

66. | A Earth leakage coil breaker B. Earth leakage circuit board
C. Earth leakage current board D. Earth leakage circuit breaker
ELCB of 3y olld

ss. | A | ud (@ Sl8c Qs 1 (@ ulBe S
C | wdd @ s22 Qs D. | el (@3 ulBe Qs
Which is not a mode of 555 timer?

67. | A Monostable B. Astable
C. Metastable D. Bistable
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ol Aol HLl 555 2l8HR ol HIS s olel?

s9. | A [ deRad B. | Arud
C | udlRua D. | st
If ratio of transformer K >1 then which is that transformer?
68. | A. Step-up B. Isolation
C. Step-down D. None of above
% 2lod SN2t oll JRTR K > 1, 8l cll A 82 2SR 89?
s¢. |[A | Runu B. | ausdlQatet
C. | RusiGet D. | As ug o3
Which of the following is not an application of fuse
69. | A Bus-bar protection B. Leakage current protection
C. Induction motor protection D. Earth fault protection
o(lAotl el 53 sl 5405 U2 Ald] USd otell?
se. |[A | d-oR YlRsatel B. | cll3 s22 Wl2satel
C. e Wesalet D. | el Qlee WRsalet
MCB generally used for
70. | A Over load protection B. Both Aand C
C. Earth leakage protection D. None of the above
AU Lol ol GuAloL sl Al B?
90. | A AR Als UlZsAet HL A ula B ¢
Co i iy Uzsaet W D] as ugl ot
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